% MEHS 13

— ~ R
EEA1 S/

LB A eniE A2 > AL 1T % (experiment) o F F — F s LT S| = B iE

2L .

= .

DF T Fags F5e e
QErFFFHRD  FHROGFI T
@ A pRiRT > FERT EAFIET
PIFLL % = "1 7 % (random experiment) e

E&EA2: BAZER /
WA R TR TR £ o fi2 5 kA 7 (sample

space) °

D%t 2 3 83 =3 - s 1 25 (sample point) ©
@t We)H — KIZ5 F 5 o BHED == (event) : WEF KT 2 W
Q% AcQ WA~ B2 e o

Bl I TEZAAZS (T A (P SRS oo &1 T 3% o B
A2H3E~ SRR PRt N A S TS RO G 7 B PRI
U RERE G AT SRR g

AU EfE (Laplacefldilh)
) %:ELE“*} ( Von Mises#d+11)

= {ES s (T Bayes#il))

(4)7%3“} I (Kolmogorov 1)



-4 mER

eIt

(1)= & %20y 2 127 :

[ @P(¢)=0 : P(Q)=1

@% A< B » = P(4)<P(B)

< @®VAcCQ : 0LP (A)
@P(AUB)=P(A4)+P(B)-P(ANB)

\@P(AC) ( )

Q)8 FFFEFEA3D g2 S 82038 % > NRE

Int
A
2
B
1
g
3
a
Je
qt

= &g 'I%;FL'_F 4w 73
= ey R T A B TR
TR Q) SRR ey . U 4 gkt o

El
L

(HIEAT D
Let E & F be mutually exclusive events in the sample space of an
experiment. Suppose that the experiment is repeated until either
event E or event F occurs. What does the sample space of the
new super experiment look like? ( &R R METAT )
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In tossing a fair of dice independently and separately. What is the
Probability of getting a sum of 7 before a sum of 4? ( BARAFAT)
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Three point A, B, C are independent and uniformly distributed on

a circle with its center at O. Find the probability that the center O
lies in the interior of triangle AABC. (A )
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EJQ={(x,y)|0<x,y<7r,0<7r—x—y<7r}
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On a line of length 2/, a point is randomly selected from the first
half, and then independently another point is randomly selected
from the second half. What is the probability that the distance
(FAAFA)

between these two points is great than %?
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A point is selected at random inside a circle. What is the probabil-

ity that the point is closer to the center than to circumference?
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(D% & (union of the set 4 & B)
AuB={w|weA or a)eB}

(2)% & (intersection of the set 4 & B)
AmB:{a)|a)eA and a)eB}

(34 & & (complement of the set 4 )
A° ={a)|a) eQ, and w ¢ A}

@) % 8 & (difference of the set 4 & B)
A—B:{a)|a)eA and a)EB}

G¥ £ & (symmetric difference of the set 4 & B)
AAB=(A-B)U(B—A4)=(4UB)—-(ANB)

67 & & (empty set)
p={) (=3 82)

(7)4c & & (additively of the set 4 & B)
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